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QUESTION 1

Which of the following statements about CFHP policing hierarchy is FALSE? 

A. The root arbiter can be the parent of a tier 2 arbiter. 

B. A tier 1 arbiter can be the parent of a policer. 

C. A child policer can have a priority level from 0 to 10. 

D. Weight is used by a parent arbiter to allocate bandwidth among children of equal level 

Correct Answer: C 

 

QUESTION 2

With hierarchical scheduling, up to ___________ tiers are supported on the Nokia 7750 SR. 

A. 8 

B. 3 

C. 4 

D. 5 

E. 6 

Correct Answer: B 

 

QUESTION 3

Which of the following statements defines the committed information rate? 

A. It is the rate at which a traffic stream is offered to a queue. 

B. It is the rate at which packets are forwarded out of a queue. 

C. It is the minimum rate at which packets may be forwarded out of a queue. 

D. It is the maximum rate at which packets may be forwarded out of a queue. 

Correct Answer: C 

 

QUESTION 4

What type of unwanted packet drops can the proper configuration of a queue\\'s burst-limit parameter prevent? 

A. Packet drops in the local queue resulting from traffic congestion. 
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B. Packet drops on the downstream nodes resulting from traffic congestion. 

C. Packet drops in the local queue resulting from traffic bursts. 

D. Packet drops on the downstream nodes resulting from traffic bursts. 

Correct Answer: C 

 

QUESTION 5

Which of the following statements about the QoS treatment of self-generated traffic in the Nokia 7750 SR is FALSE? 

A. All self-generated traffic is assigned into forwarding class NC by default. 

B. Ingress self-generated traffic is stored in CPM queues and egress self-generated traffic is stored in IOM queues. 

C. The self-generated packets will be marked with a default DSCP value. 

D. The self-generated packets will be marked with default EXP bits. 

Correct Answer: C 
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